
1
0
.5

0
2
6
6
.7

W
A

L
L
 O

P
E
N

IN
G

10.50
266.7

WALL OPENING

Phone: (201) 205-2056 / info@wall-smart.com    

A

083-4-963-SPC

SHEET 1/4

DWG NO.

REVISION

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,
DIMENSIONS ARE IN MILLIMETERS

WALL-SMART 
Model:

DATE 30/JULY/2023

UNLESS OTHERWISE SPECIFIED:

REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART zzzz

www.wall-smart.com

PRODUCT SPEC.Model No.: 083-1-963

WS RETROFIT Uni-INwall S
Family:

by Wall-Smart Ltd.

  
11.27
286.3   

  
1
1
.2

7
2
8
6
.3

  

[0.39 ~ 0.75]

10 ~ 19
WALL EDGE

THICKNESS RANGE

98
3.86

DEPTH BEHIND DRYWALL

0.16
4
COVER THICKNESS

ON-WALL

3

Device

1

2

M ake You r W all Sm art 

“W S RETRO FIT U ni-IN w all S” - Product d escription : 

Th e “W S RETRO FIT  U n i-IN w all S” is an  ad ap ter for in -w all n early 

flu sh in sta llation o f de vices m easu ring u p to 224X2 24X84m m  in size. 

Th e “W S RETRO FIT  U n i-IN w all S” firm ly m ou nts th e d evice w h ile  

allow in g easy insertion , rem oval an d  ope ration . 

K ey featu res and b enefits: 

  N early flu sh  w ith th e w all (4m m  [0 .16”] thick on -w all cover). 

  Allow s easy insertion and  rem oval o f the de vice .  

  Cove r attach es m agnetically  to the retro fit w a ll m o u nt b ase. 

  Cove r is su p plied  p ainted w h ite . 

  Cove r in clud es h idd en ven tilation grilles. 

  Board  th ickn ess 10m m [0.39"] u p to  19m m [0.75"]. 

  D e signed  for the use w ith de vices m ea su rin g up  to  

224X 224X 84m m  in  size (n ot inc lu de d). 

  Allow s in stallation  of Hu bb el-raco  420 sw itch  box (or 

eq u ivalen t) (n ot inc lu ded). 

  Inc lu d es inn er in terch angeab le sid e plates. 

  Inn er in te rch an geab le side  plates enab le in stalla tion  of: 

- U p  to 5 ke yston e in serts (n ot in clu ded ) 

-  ½”  , ¾ ”  ,1” con d uit c onnec tors (not  inc luded ) 

 

  Ad ap ter kit conta in s: 

1 . W all a dap ter (x1) 

2 . D evice  a dapter (x1) 

3 . Cover (X 1) 

(Item s 4-17  see n ext p age ) 

 

 

K ey p rope rties:  

  D im e nsion s: (W /H/D ): 286.3m m  (11 .27")/ 286.3m m  (11 .27")/ 

102m m  (4 .02”)    

  W eight: 1 .8K g, 4 lbs. 

  M a terial: M oistu re re sista nt M D F (com p lian t w ith TS CA  T itle  V I) 



-Smart Ltd.

A

083-4-963-SPC

SHEET 2/4

DWG NO.

REVISION

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,
DIMENSIONS ARE IN MILLIMETERS

WALL-SMART 
Model:

DATE 30/JULY/2023

UNLESS OTHERWISE SPECIFIED:

REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART zzzz

www.wall-smart.com

PRODUCT SPEC.Model No.: 083-1-963

Family:

Phone: (201) 205-2056 / info@wall-smart.com    

by Wall

WS RETROFIT Uni-INwall S

1. Wall adapter (X1)

2. Device adapter (X1)

3. Cover (X1)

4. #6X5/16 screws (X28)

5. Small inner side plate for 3/4" knockout (X1)

6. Inner side plate for 3/4" knockout (X1)

7. Small inner side plate for 1" knockout (X1)

8. Inner side plate for 1" knockout (X1)

9. Small inner side plate 1 Keystone adapter (X1)

10. Inner side plate 4 Keystones adapter (X1)

11. Small inner side plate for 1/2" knockout (X1)

12. Inner side plate for 1/2" knockout (X1)

13. M4X12 CAP Screws (X6)

14. M4X25 CAP Screws (X4)

15. M4 nuts (X6)

16. M3X12 flat head (X5)

17. M3 nuts (X5)

11

device

1

3

2

4

5

6

7

8

9

10

12



083-1-963
A

083-4-963-SPC

SHEET 3/4

DWG NO.

REVISION

30/JULY/2023

DIMENSIONS ARE IN MILLIMETERS

WALL-SMART 
Model:

DATE

UNLESS OTHERWISE SPECIFIED:

REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART zzzz

www.wall-smart.com

PRODUCT SPEC.Model No.:

Family:

Phone: (201) 205-2056 / info@wall-smart.com    

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,
-Smart Ltd.by Wall

WS RETROFIT Uni-INwall S

4. GENTLY SCREW CLOCKWISE 4 

RETENTION SCREWS UNTIL DOG 

EARS RETAIN THE UNIT

6. ATTACH COVER (MAGNETICALLY) 

WITH VENTILATION GRILLES FACING 

UPWARDS & DOWNWARDS 

3. INSERT WALL MOUNT BASE

1. CUT OPENING - Board thickness 10mm[0.39"] up to 19mm[0.75"].

2. ROUTE NECESSARY CABLES

1
0
.5

0
2
6
6
.7

  
  

  
10.50266.7

  

5. ATTACH THE DEVICE TO 

THE ADAPTER PLATE



083-1-963
A

083-4-963-SPC

SHEET 4/4

DWG NO.

REVISION

30/JULY/2023

DIMENSIONS ARE IN MILLIMETERS

WALL-SMART 
Model:

DATE

UNLESS OTHERWISE SPECIFIED:

REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART zzzz

www.wall-smart.com

PRODUCT SPEC.Model No.:

Family:

Phone: (201) 205-2056 / info@wall-smart.com    

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,
-Smart Ltd.by Wall

WS RETROFIT Uni-INwall S

•

INSTALLTION OF HUBBEL-RACO 420 SWITCH BOX (OR EQUIVALENT) AND RECEPTACLE

may be swapped places within themselves.

Small interchangeable Inner side plates (5,7,9,11) •

may be swapped places within themselves.

Large interchangeable Inner side plates (6,8,10,12) 

To inatall back box & receptacle, remove one of the large inner side plates

and assemble the back box using the 4 screws.

Receptacle may be installed on any wall

Remove

For 0.75" conduit

11

For 1"conduit12

10

9

8

7

6

5

Keystone inserts 

For 0.5" conduit


